EN1092-1 PN16 S/O
& Blank Flange

L
e

L
> e
1)
C
v o
a A ->
< B > &
F . .
« D1 & /f »
( _—
< K >
> D >

PN16/101 R/F SOW FLANGE - BORED FOR NB PIPE

1/2" 3/4" 1" 1.25" 1.5" 2" 2.5" 3" 4" 5" 6" 8" 10"
Code: 316 [0804205 0804208 0804210 0804212 0804215 0804220 0804225 0804230 0804240 0804250 0804260 0804263 0804266
Code: 304 |0804005 0804008 0804010 0804012 0804015 0804020 0804025 0804030 0804040 0804050 0804060 0804063 0804066
B 22.4 27.7 34.5 432 49.5 62 74.7 90.7 116.1 143.8 1707 2215 2764
D1 45 58 68 78 88 102 122 138 158 188 212 268 320
K 65 75 85 100 110 125 145 160 180 210 240 295 355
D 95 105 115 140 150 165 185 200 220 250 285 340 405
C 14 16 16 16 16 18 18 20 20 22 22 24 26
F 2 2 2 2 3 3 3 3 3 3 3 3 3
L 14 14 14 18 18 18 18 18 18 18 22 22 26
HOLES 4 4 4 4 4 4 8 8 8 8 8 12 12
BOLTS (M12x45 M12 x50 M12 x50 M12 x50 M16 x 55 M16 x 60 M16 x 60 M16 x 60 M16 x 65 M16 x 65 M20 x 70 M20 x 70 M24 x 75

o : & -
Cl ] 11, «
A A
L ¢ " F : { G
e =——=
K >
< D >
PN16/105 R/F BLANK FLANGE - GRADE 316
1/2" 3/4" 1 1.25" 1.5" 2" 2.5" 3" 4" 5" 6" 8"
Stock Code 0804095 0804098 0804100 0804102 0804105 0804110 0804115 0804120 0804125 0804130 0804135 0804140
G 45 58 68 78 88 102 122 138 158 188 212 268
K 65 75 85 100 110 125 145 160 180 210 240 295
D 95 105 115 140 150 165 185 200 220 250 285 340
d 14 16 16 16 16 18 18 20 20 22 22 24
F 2 2 2 2 3 3 3 3 3 3 3 3
L 14 14 14 18 18 18 18 18 18 18 22 22
HOLES 4 4 4 4 4 4 8 8 8 8 8 12
BOLTS |M12x45 M12x50 M12x50 M12x50 M16x55 M16x60 M16x60 M16x60 M16x65 M16x65 M20x70 M20 x 70

60



